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(6x1=6)
PART - B

(Short Essay)
Answer any 6 questions, each question carries two marks.

7. What are the types of classification ?

* 
Hl:*rhe 

difference between poputation and sarnpre ? write an exampre

9. Explain secular trend in time series
10. What do you mean by periodic changes in time series data ?
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11. Expiain quantity index number.

12. Check whether Faasche's index number eatisty time reversal test.

13. What are the different types of correlation ?

i4. Explain the features of Speannan:$:correlation coefficient. (6x2=12\
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Answer any 4 Questions, ea6h,,Uues{ion,,,Ca[ries 3 marks
,,'.,.,.,.,r,',,:'1,i,.:,... ,,,:..,.,.i .::.:::::.:::::.:. ':

1 5. Exp ta in the sou rce$ ::6$,,:'se,,,,p.,gnddry,Cata,',:.',i ::'.:" "'
"''",.';;;'1','',,'.;,';;;'.'i';i'l''i

1S. Draw a trend line by the,,,met.np*,i,sf semi averages to the following data and
:::..r: '

estimate the sales for tliB yeas,r:?,S00. 
,,,,,1,,,,,,

Sales (Rs. Lakhs) : 4$2 438 4:4tA 454 470 482 490 500
.,:,.',,,,,,,,,,,,.,,,,,,,,,:..:i:.::.:,

17. What is (i) rlme rwersalte$trnnd,..{ii}r.:,ector',r.evei'saf test ? Prove that Fisher

index nurnber satlsfieshoth iime-rever.sailest an-d,.factor reversal test.
..,:1. . . ::.i.: .j.i.. 
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18. Explain the uses of indaxlrlunrher:1'r

19. A eomputer CIperator while calculatimg ihe correlation coefticieni between two

variates x and y for 25 pairs of sbservations obtained the following.

f,x = 125, n = 25,2x2 = 650, Iy = 100, Iy2 = 460, Exy = 508" lt was later

found thai he had copied down two pairs,as (6, 14) and (8,6) while tlre

;re {8, 12) and (6,8).Obtain the correc{value of lhe correlation

coefficient.

20. What do you mean by cause and etJect method ? How we find the mean,

Year :

values of x and y from the two regression lines. (4x3=12)


